BRERR (Ff544A57)

(Ba/kg)
R M E A fafE BEEE Ty A | BEEEY YA | BEEE Y Y A
134 137 &
4H5H 4H6H ~ K7 A (4. 5) A Hg (3. 6) A (8. 1)
4H8H 4 H 10 H ~ K7 A (4. 5) AHg i (3.7) A (8. 2)
4H19H | 4H20H ~ K7 A (4. 3) A fgH (3.6) AR (7.9)




BRERER (SF154%5 A%)

(Bq/kg)
& H M E R fa il B s | R A | B Y A
134 137 a5t
4H29H 5H1H ~ X7 F R (4. 5) AR (3.5) AR (8.0)
5H10H 5H11H ~ X7 R R (4. 4) AR (3.5) AR (7.9)
5H23H 5H24H ~ X7 R R (4. 4) AR (3.5) AR (7.9)
5H28H 5H29H ~ X7 AR (5.0) AR (4. 1) B (9. 1)




BRERER (Ff546 A7)

(Ba/kg)
¥R M E A fafE Bt v | Bt v A | R v T A
134 137 &3t
6H4H 6H5H ~ X7 TR (4. 4) AR (3.5) AR (7.9)
6115 H 6H16H ~ X7 B (4. 3) AR (3.7) AR (8. 0)




BREREE (FF5E7H%%) (Bq/kg)
A H HIE H o fiE WHPEE v A | R Y A | S A
134 137 &3

L




BRERER (SF548 A%) (Ba/kg)
1% H HIE H o fiE WEPEE v A | R Y A | e T A
134 137 &3

L




BRERER (SF5%9 %) (Ba/kg)
A H HIE H o fiE WHPEE v A | R T A | S A
134 137 &3

L




BREEERE (5410 A%) (Ba/kg)
A H HIE H o fiE WHPEE v A | R T A | S A
134 137 &3

L




RERR (FM5F11AR)

(Ba/kg)
R HE R fa il Bt v A | B v A | B Y A
134 137 a5t
11H12H 11H13H ~ X7 R (4. 4) B (3.5) AR (7.9)
11H26H 11H27H ~ X7 TR (4. 4) AR (3. 4) AR (7.8)




RERKR (FFf5412A49) (Ba/kg)
R M E A fa s Bt v | R v A | B v A
134 137 &t
12H3H 12H4H ~ &7 A (4. 2) Rt (3. 4) R (7. 6)
12H25H 12H26H ~ 4T AR (4. 3) Rt (3. 6) A (7.9)




BREMRR (FM641A45)

(Ba/kg)

I H HE A Al Bt v A | B v s | BEEE Y Y A
134 137 At
1H9H 14 10H ~ &7 A K (4. 6) A HH (3. 5) AR (8. 1)
1A 18 H 1A 19H ~ &7 A (4.5) Rt (3. 4) Rt (7.9)
1 A 28H 1A29H ~ &7 A (4.5) Rt (3. 6) At (8. 1)




BRERER (Ffi6FE 2 A%) (Ba/kg)
g A M E A fafE Bt v A | R v A | B v A
134 137 &
2HT7H 2H8H ~ &7 ket (4.3) A HH (3. 5) A (7. 8)
2 H12H 2 H13H ~ &7 A (4. 4) gt (3.5) Rt (7.9)
2 H18H 2 H19H ~ &7 AR (4. 4) gt (3.5) Rt (7.9)
2 H25H 2 H26H ~ &7 AR (4. 4) Rt (3. 4) Rt (7.8)




BREER (Sf6#E3 A%)

(Ba/kg)

R M E A fafE Bt v a | s vy A | Bt vy A
134 137 At
3H3H 3H4H ~ 4T At (4. 2) Rt (3. 4) Rt (7.6)
3 HI11H 3 H12H ~ &7 A (4. 4) R Hg i (3.5) Rt (7.9)
3 H23H 3 H25H ~ &7 AR (4.3) gt (3.5) RHg it (7.8)




